# The $n^{\text {th }}$ commutativity degree of semigroups 

M. Ghaneei ${ }^{\text {a }}$, M. Azadi ${ }^{\text {a, }}{ }^{\text {* }}$<br>${ }^{\text {a }}$ Department of Mathematics, Central Tehran Branch, Islamic Azad University, Tehran, Iran. Received 31 July 2021; Revised 3 October 2021, Accepted 4 October 2021.

Communicated by Shervin Sahebi


#### Abstract

For a given positive integer $n$, the $n^{t h}$ commutativity degree of a finite noncommutative semigroup $S$ is defined to be the probability of choosing a pair ( $x, y$ ) for $x, y \in S$ such that $x^{n}$ and $y$ commute in $S$. If for every elements $x$ and $y$ of an associative algebraic structure $(S,$.$) there exists a positive integer r$ such that $x y=y^{r} x$, then $S$ is called quasi-commutative. Evidently, every abelian group or commutative semigroup is quasi-commutative. In this paper, we study the $n^{t h}$ commutativity degree of certain classes of quasi-commutative semigroups. We show that the $n^{t h}$ commutativity degree of such structures is greater than $\frac{1}{2}$. Finally, we compute the $n^{\text {th }}$ commutativity degree of a finite class of non-quasi-commutative semigroups and we conclude that it is less than $\frac{1}{2}$. (C) 2021 IAUCTB.


Keywords: Quasi-commutative semigroups, commutativity degree, probability.
2010 AMS Subject Classification: 20M05, 20P05.

## 1. Introduction and preliminaries

For a given finite algebraic structure $A$, the commutativity degree of $A$ (denoted by $P(A)$ ) is defined to be the probability of choosing a pair $(x, y)$ of the elements of $A$ such that $x$ commutes with $y$. Indeed,

$$
P(A)=\frac{|\{(x, y) \in A \times A: x y=y x\}|}{|A|^{2}}=\frac{\sum_{x \in A}\left|C_{A}(x)\right|}{|A|^{2}}
$$

where $C_{A}(x)$ is the centralizer of $x$ in $A$. The commutativity degree of groups has been studied extensively by certain authors during the years and recently it is studied and

[^0]considered for finite semigroups. One may find some results around them in $[11,12,19]$. In general, for $n \geqslant 2$, the $n^{\text {th }}$ commutativity degree of a finite algebraic structure $S$ (denoted by $P_{n}(S)$ ) is defined to be the probability of choosing a pair $(x, y) \in S \times S$ such that $x^{n}$ and $y$ commute. Then, we have
$$
P_{n}(S)=\frac{\left|\left\{(x, y) \in S \times S: x^{n} y=y x^{n}\right\}\right|}{|S|^{2}} .
$$

In [13], one can see some good results on the $n^{\text {th }}$ commutativity degree of certain noncommutative finite groups and semigroups. The quasi-commutativity property in algebraic structures is one of the interesting ideas which has been studied by many authors since 1971. The classification or identification of certain major classes of semigroups has been studied as well. For more and detailed descriptions on the quasi-commutative, quasicommutative Hamiltonian, quasi-commutative super Hamiltonian and periodic Hamiltonian semigroups, one may consult the prolific articles [16, 17, 20]. A non-commutative semigroup $S$ is called quasi-commutative if for every two elements $x, y \in S, x y=y^{r} x$ holds for some positive integers $r$. These semigroups introduced and studied by Mukherjee in [16]. For more decomposition property and also the certain infinite classes of such semigroups, see the results studied by Sorouhesh in [21]. According to [21], consider the following presentations:

$$
\pi_{1}=\left\langle a, b \mid a^{5}=a, b^{2}=a^{2}, b a=a b^{3}\right\rangle
$$

and for a given positive integer $k$,

$$
\begin{gathered}
\pi_{2}=\left\langle a, b, c_{1}, c_{2}, \ldots, c_{k}\right| a^{5}=a, b^{2}=a^{2}, b a=a b^{3}, c_{i}^{3}=c_{i}, a c_{i}=c_{i} a, b c_{i}=c_{i} b, \\
\left.c_{i} c_{j}=c_{j} c_{i}, 1 \leqslant i, j \leqslant k\right\rangle, \\
\pi_{3}=\left\langle a, b, c_{1}, c_{2}, \ldots, c_{k}, d\right| a^{5}=a, b^{2}=a^{2}, c_{i}^{3}=c_{i}, d^{p+1}=d, a c_{i}=c_{i} a, d a=a d, \\
\left.d b=b d, b a=a b^{3}, d c_{i}=c_{i} d, b c_{i}=c_{i} b, c_{i} c_{j}=c_{j} c_{i}, 1 \leqslant i, j \leqslant k\right\rangle,
\end{gathered}
$$

where $p$ is an odd prime.
Our notation is fairly standard and following $[1,2,7,19]$, We recall the notion of a presentation $\langle A \mid R\rangle$ of a semigroup $A$. For an alphabet $A$, let $A^{+}$be the free semigroup over $A$. For a subset $R$ of $A^{+} \times A^{+}$, let $\rho$ be a congruence relation generated by $R$. Then the semigroup $S=A^{+} / \rho$ will be denoted by $\langle A \mid R\rangle$ that is called a semigroup with the presentation for $S$. To lessen the likelihood of confusion, for $w_{1}, w_{2} \in A^{+}$we write $w_{1} \equiv w_{2}$ if $w_{1}$ and $w_{2}$ are identical words, and $w_{1}=w_{2}$ if they represent the same element of $S$ (i.e. if $\left.\left(w_{1}, w_{2}\right) \in \rho\right)$. For example, let $A=\{a, b\}$ and $R=\{a b=b a\}$, then $a b a=a^{2} b$ and $a b a \not \equiv a^{2} b$. For more information on the presentation of semigroups, one may consult $[2-10]$ and for a detailed study, one can see [15, 18, 19]. In whole of this paper, we use the well known notation $S g(\pi)$ to denote the semigroup presented by the presentation $\pi$.

## 2. The semigroup $S g\left(S_{1}\right)$

Let $S_{1}=S g\left(\pi_{1}\right), S_{2}=S g\left(\pi_{2}\right)$ and $S_{3}=S g\left(\pi_{3}\right)$. In this section, we study the behaviour of $n^{\text {th }}$ commutativity degree $P_{n}\left(S_{1}\right), n \geqslant 2$ and in sections 3 and 4 , we will consider the $n^{\text {th }}$ commutativity degrees $P_{n}\left(S_{2}\right)$ and $P_{n}\left(S_{3}\right)$ and will give our main results around.

Our main result on $S_{1}$ is considered in the following proposition.
Proposition 2.1 For every positive integer $n, P_{n}\left(S_{1}\right)>\frac{1}{2}$. In fact,

$$
P_{n}\left(S_{1}\right)= \begin{cases}\frac{49}{81} & \text { if } n=1 \\ \frac{56}{81} & \text { if } n \geqslant 2 \text { and } \mathrm{n} \text { is even }, \\ \frac{46}{81} & \text { if } n \geqslant 3 \text { and } \mathrm{n} \text { is odd. }\end{cases}
$$

Proof. Let $C\left(x^{n}\right)=\left\{y \mid x^{n} y=y x^{n}\right\}$ be the centralizer of $x^{n}$ for every element $x \in S_{1}$. If $n=1$, then by using the relation of $S_{1}$ we obtain

$$
\begin{aligned}
& C(a)=C\left(a^{3}\right)=\left\{a^{i} \mid i=1, \ldots, 4\right\} \\
& C(b)=C\left(a^{2} b\right)=C\left(a^{4} b\right)=\left\{a^{2 i}, b, a^{2 i} b \mid i=1,2\right\} \\
& C\left(a^{2}\right)=C\left(a^{4}\right)=\left\{a^{i}, b, a^{i} b \mid i=1, \ldots, 4\right\} \\
& C(a b)=C\left(a^{3} b\right)=\left\{a^{2 i}, a^{2 i-1} b \mid i=1,2\right\}
\end{aligned}
$$

Consequently, $P_{1}\left(S_{1}\right)=\frac{49}{81}$.
Now, let $n>1$. Then we consider two following cases: If $n$ is even, then

$$
C\left(x^{n}\right)=\left\{\begin{array}{ll}
C\left(\left(a^{2}\right)^{\frac{n}{2}}\right)=C\left(a^{2}\right)=\left\{a^{i}, b, a^{i} b \mid i=1, \ldots, 4\right\} & \text { if } x=a \\
C\left(\left(a^{2}\right)^{n}\right)=C\left(a^{4}\right)=\left\{a^{i}, b, a^{i} b \mid i=1, \ldots, 4\right\} & \text { if } x=a^{2} \\
C\left(\left(a^{3}\right)^{n}\right)=C\left(a^{2}\right) & \text { if } x=a^{3} \\
C\left(\left(a^{4}\right)^{n}\right)=C\left(a^{4}\right) & \text { if } x=a^{4} \\
C\left(b^{n}\right)=C(a)=\left\{a^{i} \mid i=1, \ldots, 4\right\} & \text { if } x=b \\
C\left((a b)^{n}\right)=C(a) & \text { if } x=a b \\
C\left(\left(a^{2} b\right)^{n}\right)=C\left(a^{n-1}\right) & \text { if } x=a^{2} b \\
C\left(\left(a^{3} b\right)^{n}\right)=C\left(a^{n-1}\right) & \text { if } x=a^{3} b \\
C\left(\left(a^{4} b\right)^{n}\right)=C\left(\left(b^{5}\right)^{n}\right)=C\left(b^{5 n}\right)=C\left(a^{5 n}\right)=C(a) \text { if } x=a^{4} b
\end{array} .\right.
$$

Thus, we have

$$
P_{n}\left(S_{1}\right)=\frac{9+9+9+9+4+4+4+4+4}{9 \times 9}=\frac{56}{81}
$$

A similar proof may be used when $n$ is odd. In this case, we obtain that

$$
P_{n}\left(S_{1}\right)=\frac{4+9+4+9+4+4+4+4+4}{9 \times 9}=\frac{46}{81} .
$$

Consequently, for every positive integer $n>1, P_{n}\left(S_{1}\right)>\frac{1}{2}$.

## 3. The semigroup $\operatorname{Sg}\left(S_{2}\right)$

In this section, we try to obtain the $n^{\text {th }}$ commutativity degree $P_{n}\left(S_{2}\right)$ for a positive integer $n$. Our main result of this section is presented as the following proposition.

Proposition 3.1 For every positive integer $n, P_{n}\left(S_{2}\right) \geqslant \frac{1}{2}$. In fact,

$$
P_{n}\left(S_{2}\right)= \begin{cases}\frac{17}{25} & \text { if } n=1 \\ \frac{3}{4} & \text { if } n \geqslant 2 \text { and } n \text { is even } \\ \frac{1}{2} & \text { if } n \geqslant 3 \text { and } n \text { is odd }\end{cases}
$$

Proof. For $n=1$, we may use a similar proof to that of the semigroup $S_{1}$ and then we get the following results, where $1 \leqslant i, j \leqslant k$ and $\ell=1,2$.

$$
\begin{aligned}
& C(a)=C\left(a^{3}\right)=\left\{a^{t}, c_{i}^{\ell}, a^{t} c_{i}^{\ell}, c_{i}^{\ell} c_{j}^{\ell}, a^{t} c_{i}^{\ell} c_{j}^{\ell} \mid t=1, \ldots, 4\right\}, \\
& C\left(a^{2}\right)=C\left(a^{4}\right)=\left\{a^{t}, b, a^{t} b, c_{i}^{\ell}, a^{t} c_{i}^{\ell}, b c_{i}^{\ell}, a^{t} b c_{i}^{\ell}, c_{i}^{\ell} c_{j}^{\ell}, a^{t} c_{i}^{\ell} c_{j}^{\ell}, b c_{i}^{\ell} c_{j}^{\ell}, a^{t} b c_{i}^{\ell} c_{j}^{\ell} \mid t=1, \ldots, 4\right\}, \\
& C(b)=\left\{a^{t}, b, a^{t} b, c_{i}^{\ell}, a^{t} c_{i}^{\ell}, b c_{i}^{\ell}, a^{t} b c_{i}^{\ell}, c_{i}^{\ell} c_{j}^{\ell}, a^{t} c_{i}^{\ell} c_{j}^{\ell}, b c_{i}^{\ell} c_{j}^{\ell}, a^{t} b c_{i}^{\ell} c_{j}^{\ell} \mid t=1,2\right\}, \\
& C(a b)=C\left(a^{3} b\right)=\left\{a^{t}, a^{2 t-1} b, c_{i}^{\ell}, a^{t} c_{i}^{\ell}, a^{2 t-1} b c_{i}^{\ell}, c_{i}^{\ell} c_{j}^{\ell}, a^{t} c_{i}^{\ell} c_{j}^{\ell}, a^{2 t-1} b c_{i}^{\ell} c_{j}^{\ell} \mid t=1,2\right\}, \\
& C\left(a^{2} b\right)=C\left(a^{4} b\right)=C(b), \\
& C\left(c_{i}^{\ell}\right)=C\left(c_{i}^{\ell} c_{j}^{\ell}\right)=C\left(a^{2}\right), \\
& C\left(a^{t} c_{i}^{\ell}\right)=C\left(a^{t} c_{i}^{\ell} c_{j}^{\ell}\right)=C\left(a^{t}\right), \\
& C\left(b c_{i}^{\ell}\right)=C\left(b c_{i}^{\ell} c_{j}^{\ell}\right)=C(b), \\
& C\left(a^{t} b c_{i}^{\ell}\right)=C\left(a^{t} b c_{i}^{\ell} c_{j}^{\ell}\right)=C\left(a^{t} b\right), \quad(t=1, \ldots, 4) .
\end{aligned}
$$

Since $\left|S_{2}\right|=10 \times 3^{k}-1$, then

$$
\begin{aligned}
& P_{1}\left(S_{2}\right)=\frac{4 \times 3^{k}\left(5\left(3^{k}\right)-1\right)+3 \times 3^{k}\left(6\left(3^{k}\right)-1\right)+\left(3\left(3^{k}\right)-1\right)\left(10\left(3^{k}\right)-1\right)}{\left(10\left(3^{k}\right)-1\right)^{2}} \\
& =\frac{68\left(3^{2 k}\right)-20\left(3^{k}\right)+1}{100\left(3^{2 k}\right)-20\left(3^{k}\right)+1}, \\
& \lim _{k \rightarrow \infty} \frac{68\left(3^{2 k}\right)-20\left(3^{k}\right)+1}{100\left(3^{2 k}\right)-20\left(3^{k}\right)+1}=\lim _{k \rightarrow \infty} \frac{3^{2 k}\left(68-\frac{20}{3^{k}}+\frac{1}{3^{2 k}}\right)}{3^{2 k}\left(100-\frac{20}{3^{k}}+\frac{1}{3^{2 k}}\right)=\frac{17}{25}} .
\end{aligned}
$$

For $n>1$, we consider two cases. If $n$ is even, then $C\left(x^{n}\right)$ is equal to

$$
\begin{cases}C\left(a^{2}\right) & \text { if } x=a^{t}, t=1,3 \\ C\left(\left(a^{t}\right)^{n}\right)=C\left(a^{4}\right) & \text { if } x=a^{t}, t=2,4 \\ C\left(b^{n}\right)=C(a) & \text { if } x=b \\ C\left(\left(a^{t} b\right)^{n}\right)=C(a) & \text { if } x=a^{t} b, t=1,4 \\ C\left(\left(a^{t} b\right)^{n}\right)=C\left(a^{n-1}\right) & \text { if } x=a^{t} b, t=2,3 \\ C\left(\left(c_{i}^{\ell}\right)^{n}\right)=C\left(\left(c_{i}^{\ell} c_{j}^{\ell}\right)^{n}\right)=C\left(c_{i}^{2}\right) & \text { if } x=c_{i}^{\ell}, c_{i}^{\ell} c_{j}^{\ell}, \ell=1,2 \\ C\left(\left(a^{t} c_{i}^{\ell}\right)^{n}\right)=C\left(\left(a^{t} c_{i}^{\ell} c_{j}^{\ell}\right)^{n}\right)=C\left(a^{2} c_{i}^{2}\right) & \text { if } x=a^{t} c_{i}^{\ell}, a^{t} c_{i}^{\ell} c_{j}^{\ell}, \ell=1,2, t=1,3 \\ C\left(\left(a^{t} c_{i}^{\ell}\right)^{n}\right)=C\left(\left(a^{t} c_{i}^{\ell} c_{j}^{\ell}\right)^{n}\right)=C\left(a^{4} c_{i}^{2}\right) & \text { if } x=a^{t} c_{i}^{\ell}, a^{t} c_{i}^{\ell} c_{j}^{\ell}, \ell=1,2, t=2,4 \\ C\left(\left(b c_{i}^{\ell}\right)^{n}\right)=C\left(\left(b c_{i}^{\ell} c_{j}^{\ell}\right)^{n}\right)=C\left(a c_{i}^{2}\right) & \text { if } x=b c_{i}^{\ell}, b c_{i}^{\ell} c_{j}^{\ell}, \ell=1,2 \\ C\left(\left(a^{t} b c_{i}^{\ell}\right)^{n}\right)=C\left(\left(a^{t} b c_{i}^{\ell} c_{j}^{\ell}\right)^{n}\right)=C\left(a c_{i}^{2}\right) & \text { if } x=a^{t} b c_{i}^{\ell}, a^{t} b c_{i}^{\ell} c_{j}^{\ell}, \ell=1,2, t=1,4 \\ C\left(\left(a^{t} b c_{i}^{\ell}\right)^{n}\right)=C\left(\left(a^{t} b c_{i}^{\ell} c_{j}^{\ell}\right)^{n}\right)=C\left(a^{n-1} c_{i}^{2}\right) & \text { if } x=a^{t} b c_{i}^{\ell}, a^{t} b c_{i}^{\ell} c_{j}^{\ell}, \ell=1,2, t=2,3\end{cases}
$$

where $1 \leqslant i, j \leqslant k$. Therefore,

$$
P_{n}\left(S_{2}\right)=\frac{5 \times 3^{k}\left(5\left(3^{k}\right)-1\right)+\left(5\left(3^{k}\right)-1\right)\left(10\left(3^{k}\right)-1\right)}{\left(10\left(3^{k}\right)-1\right)^{2}}=\frac{75\left(3^{2 k}\right)-20\left(3^{k}\right)+1}{100\left(3^{2 k}\right)-20\left(3^{k}\right)+1}
$$

This gives us $\lim _{k \rightarrow \infty} P_{n}\left(S_{2}\right)=\frac{3}{4}$.
For the odd values of $n$, we may use a similar method and conclude that

$$
P_{n}\left(S_{2}\right)=\frac{10\left(10\left(3^{k}\right)-1\right)+\left(10\left(3^{k}\right)-1\right)\left(5\left(3^{k}\right)-1\right)}{\left(10\left(3^{k}\right)-1\right)^{2}}=\frac{50\left(3^{2 k}\right)+85\left(3^{k}\right)-9}{100\left(3^{2 k}\right)-20\left(3^{k}\right)+1}
$$

and $\lim _{k \rightarrow \infty} P_{n}\left(S_{2}\right)=\frac{1}{2}$. Finally, for every positive integer $n$, we have $P_{n}\left(S_{2}\right) \geqslant \frac{1}{2}$.

## 4. The semigroup $S g\left(S_{3}\right)$

In this section, we compute the $n^{t h}$ commutative degree of the semigroup $S_{3}$. The following proposition show our main result of this section.

Proposition 4.1 For every positive integer $n, P_{n}\left(S_{3}\right) \geqslant \frac{1}{2}$. In fact,

$$
P_{n}\left(S_{3}\right)=\left\{\begin{array}{l}
\frac{17}{25} \text { if } n=1 \\
\frac{3}{4} \text { if } n \geqslant 2, \text { and } \mathrm{n} \text { is even } \\
\frac{1}{2} \text { if } n \geqslant 3, \text { and } \mathrm{n} \text { is odd. }
\end{array}\right.
$$

Proof. Since $S_{3}$ is a finite quasi-commutative semigroup of order $10\left(3^{k}\right)(1+p)-1$ (see [5]), where $p$ is an odd prime and $k$ is a positive integer then to estimate $P_{1}\left(S_{3}\right)$ we need to compute $|C(x)|$ 's for all $x \in S_{3}$, for instance using $|C(a)|$ we get

$$
|C(a)|=5 \times 3^{k}-1+p+\left(5 \times 3^{k}-1\right) p=5 \times 3^{k}(1+p)-1
$$

Consequently,

$$
\begin{aligned}
P_{1}\left(S_{3}\right)= & \frac{\left(4\left(3^{k}\right)(1+p)-1\right)\left(5\left(3^{k}\right)(1+p)-1\right)}{\left(10\left(3^{k}\right)(1+p)-1\right)^{2}} \\
& +\frac{\left(3\left(3^{k}\right)(1+p)-1\right)\left(6\left(3^{k}\right)(1+p)-1\right)}{\left(10\left(3^{k}\right)(1+p)-1\right)^{2}} \\
& +\frac{\left(3\left(3^{k}\right)(1+p)-1\right)\left(10\left(3^{k}\right)(1+p)-1\right)}{\left(10\left(3^{k}\right)(1+p)-1\right)^{2}}
\end{aligned}
$$

As an immediate result and using an almost tedious hand calculation, we see that

$$
\lim _{k \rightarrow \infty} P_{1}\left(S_{3}\right)=\frac{17}{25}
$$

For every values of $n \geqslant 2$, we may consider two cases. Let $n$ be even. Then
where $1 \leqslant i, j \leqslant k, t=1, \ldots 4, \ell=1,2$ and $p$ is an odd prime. This computation yields us:

$$
\begin{aligned}
P_{n}\left(S_{3}\right) & =\frac{\left(5\left(3^{k}\right)(1+p)-1\right)\left(5\left(3^{k}\right)(1+p)-1\right)+\left(5\left(3^{k}\right)(p+1)-1\right)\left(10\left(3^{k}\right)(1+p)-1\right)}{\left(10\left(3^{k}\right)(1+p)-1\right)^{2}} \\
& =\frac{75\left(3^{2 k}\right) p^{2}+150\left(3^{2 k}\right) p+75\left(3^{2 k}\right)-25\left(3^{k}\right) p-25\left(3^{k}\right)+2}{100\left(3^{2 k}\right) p^{2}+200\left(3^{2 k}\right) p+1003^{2 k}-20\left(3^{k}\right) p-20\left(3^{k}\right)+1} .
\end{aligned}
$$

Now, let $n$ be odd. Then, in a similar way as above, we conclude that

$$
\begin{aligned}
P_{n}\left(S_{3}\right) & =\frac{(10(1+p))\left(10\left(3^{k}\right)(1+p)-1\right)+\left(5\left(3^{k}\right)(p+1)-1\right)\left(10\left(3^{k}\right)(1+p)-1\right)}{\left(10\left(3^{k}\right)(1+p)-1\right)^{2}} \\
& =\frac{50\left(3^{2 k}\right) p^{2}+100\left(3^{2 k}\right) p+100\left(3^{k}\right) p^{2}+185\left(3^{k}\right) p+50\left(3^{2 k}\right)+85\left(3^{k}\right)+10 p+11}{100\left(3^{2 k}\right) p^{2}+200\left(3^{2 k}\right) p+1003^{2 k}-20\left(3^{k}\right) p-20\left(3^{k}\right)+1},
\end{aligned}
$$

For every odd prime $p$, if $k$ tends to infinity, then we get

$$
\lim _{k \rightarrow \infty} P_{n}\left(S_{3}\right)=\frac{3}{4} \text { or } \lim _{k \rightarrow \infty} P_{n}\left(S_{3}\right) \geqslant \frac{1}{2},
$$

if $n$ is even either odd, respectively. Hence, $P_{n}\left(S_{3}\right) \geqslant \frac{1}{2}$ for every positive integer $n$.

## 5. Conclusion

For all of the considered quasi-commutative semigroups in the last sections, the $n^{\text {th }}$ commutativity degree was greater than of equal to $\frac{1}{2}$.
Challenging on getting probabilities less than $\frac{1}{2}$ will be of interest and we suppose that the quasi-commutativity property invites the probability to be $\geqslant \frac{1}{2}$, we consider a finite
class of non-quasi-commutative semigroups.

$$
\pi_{4}=\left\langle a, b \mid a^{m+1}=a, b^{3}=b, b a=a^{m-1} b\right\rangle,(m \geqslant 3)
$$

This class studied for its finiteness property in [14]. Now, we show that:
Proposition 5.1 Let $S_{4}=S_{g}\left(\pi_{4}\right)$, for $m \geqslant 11$, we have $P_{1}\left(S_{4}\right)<\frac{1}{2}$.
Proof. We may easily get that $\left|S_{4}\right|=3 m+2$ and by using a similar method to calculate $P_{1}\left(S_{4}\right)$, as in the last sections we get
$|C(x)|= \begin{cases}\left|C\left(a^{i}\right)\right|=\left|C\left(a^{i} b^{2}\right)\right|=|C(a)|=2 m+1 & \text { if } x=a^{i}, a^{i} b^{2}, 1 \leqslant i \leqslant m-1, \\ \left|C\left(a^{m}\right)\right|=\left|C\left(a^{m} b^{2}\right)\right|=\left|C\left(b^{2}\right)\right|=3 m+2 & \text { if } x=a^{m}, \\ |C(b)|=\left|\left\{a^{m}, b, b^{2}, a b, a^{m} b^{2}\right\}\right|=5 & \text { if } x=b, \\ \left|C\left(a^{i} b\right)\right|=\left|\left\{a^{m}, b^{2}, a^{i} b, a^{m} b^{2}\right\}\right|=4 & \text { if } x=a^{i} b, 1 \leqslant i \leqslant m-1, \\ \left|C\left(a^{m} b\right)\right|=\left|\left\{a^{m}, b, b^{2}, a^{m} b, a^{m} b^{2}\right\}\right|=5 & \text { if } x=a^{m} b .\end{cases}$
Therefore,
$P_{1}\left(S_{4}\right)=\frac{(2 m-2)(2 m+1)+4(m-1)+3(3 m+2)+2 \times 5}{(3 m+2)^{2}}=\frac{4 m^{2}+11 m+10}{9 m^{2}+12 m+14}$.
Obviously, $P_{1}\left(S_{4}\right)>\frac{4}{9}$ for $m \geqslant 11$. Hence, $\frac{4}{9}<P_{1}\left(S_{4}\right)<\frac{1}{2}$.
An example of the $n$-almost commutative semigroup, i.e.; the semigroup when $n^{\text {th }}$ commutativity degree is equal to 1 , is another result of the study of $S_{4}$ as follows:

Proposition 5.2 For every even positive integers $m$ and $n$ such that $m=n, m, n \geqslant 4$, we have $P_{n}\left(S_{4}\right)=1$, where $S_{4}=S_{g}\left(\pi_{4}\right)$.

## Proof.

$\left|C\left(x^{n}\right)\right|= \begin{cases}\left|C\left(\left(a^{i} b^{2}\right)^{n}\right)\right|=\left|C\left(\left(a^{i} b\right)^{n}\right)\right|=\left|C\left(\left(a^{i}\right)^{n}\right)\right|=\left|C\left(a^{m}\right)\right|=3 m+2 \\ & \text { if } x=a^{i}, a^{i} b, a^{i} b^{2}, \\ \left|C\left((b)^{n}\right)\right|=\left|C\left(\left(b^{2}\right)^{n}\right)\right|=\left|C\left(b^{2}\right)\right|=3 m+2 & \text { if } x=b, b^{2},\end{cases}$
where $1 \leqslant i \leqslant m$. Hence, $P_{1}\left(S_{4}\right)=\frac{(3 m+2)(3 m+2)}{(3 m+2)^{2}}=1$.
Consider a finite class of non commutative semigroups $\pi_{5}=<a, b \mid a^{2}=b^{m}, b a b=a>$ of order $\left|S_{5}\right|=5 m-1$.
Proposition 5.3 For $m>2, P_{1}\left(S_{5}\right)<\frac{1}{2}$, where $S_{5}=S_{g}\left(\pi_{5}\right)$.
Proof. As a similar of proof in the last sections for calculate $P_{1}\left(S_{5}\right)$, we get

$$
|C(x)|=\left\{\begin{array}{l}
4 \quad \text { if } \quad x=a, a^{3}, a b, b a, a b^{2}, b^{2} a, a^{2} b a, a^{3} b \\
11 \text { if } \quad x=b, b^{2}, b^{3}, a^{2} b, a b a, a^{2} b^{2}, a b^{2} a, a^{4} b, a^{3} b a \\
19 \text { if } \quad x=a^{2}, a^{4}
\end{array}\right.
$$

Therefore,

$$
P_{1}\left(S_{5}\right)=\frac{8 \times 4+2 \times 19+9 \times 11}{19 \times 19}=\frac{169}{361}<\frac{1}{2}
$$

Now, for when $m$ be even and greater than 2 , we have
$|C(x)|= \begin{cases}|C(a)|=\left|C\left(a^{3}\right)\right|=\left|C\left(a b^{i}\right)\right|=\left|C\left(b^{i} a\right)\right|=4 & \text { if } x=a, a^{3}, 1 \leqslant i \leqslant m-1, \\ \left|C\left(b^{i}\right)\right|=3 m-1 & \text { if } 1 \leqslant i \leqslant m-1, \\ \left|C\left(a^{2} b^{i}\right)\right|=\left|C\left(a^{4} b^{i}\right)\right|=3 m-1 & \text { if } 1 \leqslant i \leqslant m-1, \\ \left|C\left(a^{i}\right)\right|=5 m-1 & \text { if } i=2,4,\end{cases}$
and we conclude that

$$
P_{1}\left(S_{5}\right)=\frac{2 m \times 4+2 \times(5 m-1)+3(m-1)(3 m-1)}{(5 m-1)^{2}}=\frac{9 m^{2}+6 m+1}{25 m^{2}-10 m+1}
$$

and

$$
\lim _{m \rightarrow \infty} \frac{9 m^{2}+6 m+1}{25 m^{2}-10 m+1}=\lim _{m \rightarrow \infty} \frac{m^{2}\left(9+\frac{6}{m}+\frac{1}{m^{2}}\right)}{m^{2}\left(25-\frac{10}{m}+\frac{1}{m^{2}}\right)}=\frac{9}{25} .
$$

Thus, $P_{1}\left(S_{5}\right)<\frac{1}{2}$.

## References

[1] H. Ayik, C. M. Campbell, J. J. O'Connor, N. Ruskuc, The semigroup efficiency of groups and monoids, Math. Proc. Royal Irish Acad. 100A (2000), 171-176.
[2] C. M. Campbell, J. D. Mitchell, N. Ruskuc, Comparing semigroup and monoid presentations for finite monoids, Monatsh. Math. 134 (2002), 287-293.
[3] C. M. Campbell, J. D. Mitchell, N. Ruskuc, On defining groups efficiently without using inverses, Math. Proc. Cambridge Philos. Soc. 133 (2002), 31-36.
[4] C. M. Campbell, E. F. Robertson, N. Ruskuc, R. M. Thomas, Fibonacci semigroups, J. Pure Appl. Algebra. 94 (1994), 49-57.
[5] C. M. Campbell, E. F. Robertson, N. Ruskuc, R. M. Thomas, On semigroups defined by Coxeter type presentations, Proc. Royal Soc. Edinburgh. 125A (1995), 1063-1075.
[6] C. M. Campbell, E. F. Robertson, N. Ruskuc, R. M. Thomas, On subsemigroups of finitely presented semigroups, J. Algebra. 180 (1996), 1-21.
[7] C. M. Campbell, E. F. Robertson, N. Ruskuc, R. M. Thomas, Semigroup and group presentations, Bull. London Math. Soc. 27 (1995), 46-50.
[8] C. M. Campbell, E. F. Robertson, N. Ruskuc, R. M. Thomas, Y. Unlu, Certain one-relator products of semigroups, Comm. Algebra. 23(14) (1995), 5207-5219.
[9] C. M. Campbell, E. F. Robertson, R. M. Thomas, On a class of semigroups with symmetric presentations, Semigroup Forum. 46 (1993), 286-306.
[10] C. M. Campbell, E. F. Robertson, R. M. Thomas, Semigroup presentations and number sequences, in: Applications of Fibonacci numbers, eds. G. E. Bergum et al. 5 (1993), 77-83.
[11] A. H. Clifford, G. B. Preston, The Algebraic Theory of Semigroups I, Amer. Math. Soc. Surveys. 7, Providence, 1961.
[12] H. Doostie, M. Maghasedi, Certain classes of groups with commutativity degree $d(G)<0.5$, Ars Combinatoria. (2008), 263-270.
[13] M. Hashemi, M. Polkouei, The n-th commutativity degree of a finite semigroup, Inter. J. Math. 8 (2014), 198-200.
[14] N. Hosseinzadeh, H. Doostie, Examples of non-quasicommutative semigroups decomposed into union of groups, Bull. Iranian Math. Soc. 2 (2015), 483-487.
[15] J. D. Mitchell, Extremal Problems in Combinatorial Semigroup Theory, Ph.D. Thesis, University of St. Andrews, 1998.
[16] N. P. Mukherjee, Quasi-commutative semigroups I, Czechoslovak Math. J. 97 (1972), 449-453.
[17] B. Pondelicek, Note on Quasi-Hamiltonian semigroups, Casopis Pro Pestovani Matematiky. 110 (1985), 356358.
[18] E. F. Robertson, Y. Unlu, On semigroup presentations, Proc. Edinburgh Math. Soc. 36 (1993), 55-68.
[19] N. Ruskuc, Semigroup Presentations, Ph.D. Thesis, University of St. Andrews, 1995.
[20] K. P. Shum, X. M. Ren, On super Hamiltonian semigroups, Czechoslovak Math. J. 54 (2004), 247-252.
[21] M. R. Sorouhesh, H. Doostie, Quasi-commutative semigroups of finite order related to Hamiltonian groups, Bull. Korean Math. Soc. 1 (2015), 239-246.


[^0]:    *Corresponding author.
    E-mail address: ghaneeimandana@yahoo.com (M. Ghaneei); meh.azadi@iauctb.ac.ir (M. Azadi).

